&Qﬂ)@ 7%0‘0 IR 3, JATA T hH

- IFGIGE WR:
1 3 1 1 1 1 1 1
x4+ - = X ——— =
2 25 4 4 3 2 2
3 1 2 1
18X Z+6— - = 15x Z+5— - =
8><4 6 - 5x3 5 3
PIRLIN S Dopuliqge
3 2 2 4
3 1 1 1
Z-20x = +10= _—8x = =2=
7 0><2 0 - 8 x
l—14><§+2= 1+16x1+2=
2 5 2 2

www.snowmath.com


https://www.snowmath.com

SH@r o

IR 32, T I hH

N =
N W
| —
N
l\)l[\)
S| =
Il
S| —

3
——20%x =+
4 2

ICSICE

I 1 1 1
372 2700
I 5 2
15x Z+5—-=2=1Z
3 3 3

1 1
S x = +T= (-1
7 1 (=D

1 1 1
5 %"% =3)

www.snowmath.com



https://www.snowmath.com

